LAND District Seat




ITEM PART NUMBER DESCRIPTION QTY
1 220101-D01-0104-AA District MILSCO Seat 1
2 90006-06000-0P M6 Washer 6
3 90000-06014-0P M6 x 1 x 14 Button Head 6
4 220103-D01-0100-WH Horn 1
5 220102-D01-0120-SM Seat Finish Plate 1
6 90005-04010-0T M4 x 1.8 x 10 Thread Forming Flat 6

Head
7 90001-06030-0P M6 x 1 x 30 Flat head 1
8 230102-D01-0150-CC Tailight Lense 1
9 180108-D01-0100-AA Rear Turn Signal 2
10 230101-D01-0100-AA Taillight LED 1
11 23104-D01-0103-00 Taillight Base 1




